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NC_000913, yeaR | euE-,

0 1878130 > *1878120 * _ ___*1878110
atgctttcagcccgcgttgtcgcgggcttcccatctataatcctccct

config: linear, direction: -, begin:
- *1878170 * *1878160 _* *1878150 *
gctogcccgactgogcgacgctgcaatccrt,
ala - ala- arg - leu - ala- thr - leu- gln - ser -
- cys - ile - leu - net -
*1878090 * *1878080 * *

ser

-fMet - val - leu -
- Ieu- ile - trp - cys -

*1878010_ *

. *1878000 * *1877990 *
ataaaccgtititcagcgcattcaccgaag
-orf 13 codons =

*1878070 *1878040 * *1878030 *
cttcgct atatggtgctaaaaagt.aaccaataaatggtattt.aaaatgcaaattatcaggcgtaccctgaaacggct
- lys - ser - asn - gln - @

gaggg

-1 -
1878174, end: 1877953
*1878140

*1878060

*

-fMat - val

*1877980 *

leu - ser - ala - arg - val

200
aaaag

g a

* *1878130 _* *1878120 *

- val - ala- gly - phe - pro
*1878050 *

-phe-lys- ; c

leu -

- ser - ile -

ile -

- -fMet - ser - arg - ala - ser - his - ®
- leu - pro- asp - trp - arg - arg - cys - asn - pro - asp - aIa- phe- ser - pro - arg - cys - arg - gly - leu - pro- ile - tyr - asn - pro - pro -
pro - thr - gly - asp - ala - ala -

leu -

*1878100 *

Jgatt 3

pro - asp - ser
*1878020 *
ggasy

------------ —sd-(g)-ir 1878047 Gap 2.3 bits
[T sd-ir 1878047 yeaR | euE- total

p35 5.6 bits

ir yeaR | euE-

sd-(11)-ir 1877972 Gap 3.0 bits
sd-ir 1877972 yeaR | euE- total 9.2 bits

ir yeaR | euE-

~

THp10 3.8 bits

11.3 bits

---] p35-p10 1878029 total 7.9

NC_000913. yeaR

bits

} p35-(23)-pl0 1878029 Gap 1.4 bits



